«ULwG-3pwqnubjwb-pun» OPL 2015 pywlwbh
qunruttrr MLUL

QGowl wnwnplywjh® QhGhwa
Uhowlighy al LGnwakhp
CPV nwuuw- guluwp- (nhwa)
Yupqiwd an)
1 2 3 4 5 6
I. Uypw(pGhp, wjn pyncy” 105,809,590
Jwnbihp L puwjninbp 71,478,000
09132200 | Ptughu nbgnyjwp < L. 440 31,240,000 71000
09134220 | Yhahjuyht Junbihp (EN 590) t< L. 445 22,250,000 50000
09121700 | Puwlwu quq PCUR | funp.u. 200 15,000,000 75000
09121400 | <bnnil ypnwwu quq (224 Ua 350 140,000 400
09211600 | “PHndinl hwdwlungtipnud b wy < L 1,000 | 2,800,000 2800
Uwwwnwlubipny ogunnwgnpdynn jninbip
09211820 |Lwypwihu jninbp, win pdnud’ Yhulynght (< L 1,200 48,000 40
Ujniplip, 2hGwdjnip, wwhbuwnwdwutip 33,041,540
39563400 | SWPIHUHO, tunduid huud dwishnypny Yunpltn, |- o g 52,650 | 7,152,000 1430
punwdbup wjn pynwd
fudnis FUPM N2 10 (< Ug 4,650 69,750 15
Fudnis FUPM Ne 12 cL Uag 4,650 69,750 15
fudnid FUPM Ne 18 < Ug 4,650 465,000 100
Fudnis FURM Ne 20 c< Ua 4,650 697,500 150
Fudnid FUPM Ne 22 c< Ua 4,650 2,092,500 450
fudnid lUPM Ne 24 c< Ug 4,650 1,627,500 350
hudniy lUPM Ne 26 t< Uag 4,650 930,000 200
hudnid uhupbitnhy Ne 24 c< Ua 8,000 800,000 100
fudnid uhupbinhly Ne 26 < Ug 8,000 400,000 50
44111446 | Ubynwhsubip, wyn pdnud’ wwpnuhn MOL (7S Ug 1,720 172,000 100
44311160  |Ubwnwnwannbp, win pynd’ CT-45 wynnuwwinhg [ Ug 700 934,500 1335
44423570 | Mpndhjubp (Gubp), punwdbup, win pynid’ (< qd.u 100 19,000 190
Ubitnwnwlwu wulyniuwy N=40 c< go.u 100 6,000 - 60
Ubnwnwlwu wulyniuwly N=50 < qo.ud 100 13,000 130
44118000 |Ubwnwnuwlwu phptin 1x1x0.0034 < g2 2,140 29,960 14
44118000 |Ubnwnwlwl phetin 1x1x0.0054 t< o2 2,140 29,960 14
19510000 |Upwnwnpwup Yunynihjhg, win pynid’ ¢l hwwn 5,000 90,000 18
hugng nbnhub 105x80x10 (< hwwn 6,000 36,000 6
fugng nbwnhub 85x110x10 [ hwwn 5,000 30,000 6
fugng nbiwnhub 95x70x10 < hwwn 4,000 24,000 6
44112280 |Utwnwnwlwu htdwuubkip N 80 < Ua 6,700 670,000 100
44112280 |Utunwnwlwu htdwuubip N 100 74 Uag 7,500 900,000 120
44111200 | Sbdbuwn c< tn 55,000 825,000 15
1421113 JUdwgh b dwupwfubh juwnunipn < g3 2,700 216,000 80
44311180 | bnwlgdwu unipbp, win pynud* ElYwnpnn < Ug 1,000 450,000 450
14711200 |(anwwb anydwdp, wyn pyntd’ < hwn 48,836 3,223,200 66
Jnwu 10 HMK-2 < hwun 16,000 128,000 8
Ynwu 12 HAC cL hwn 8,000 32,000 4
Jdnwu 14 M 12x4 t< hwun 24,000 144,000 6
Jdnwu 20 -6 c< hww 24,000 48,000 2
Ynwu 24 HAC c< hwn 28,000 112,000 4
Lywgdwu on 10 HMK-2 (o8 hwn 19,200 153,600 8
Luwwgdwl on 12 HAC < hwin 12,800 51,200 4
Luwgdwl on 14 M 12x4 t< hww 19,200 230,400 12
c<l hwn 36,000 144,000 4

Lwwgdwl on 20 -6




Lwwgdwt on 24 HAC < hwn 128,000 1,280,000 10
Wohuwwnwupwihu wuhy 10 HMK-2 c< hww 225,000 900,000 4
14620000 |Cwdwdényywsdpubn, wyn pynid’ ppnugt dnyywdp < Ug 5,550 111,000 20
24111180 | (Fpqwdhu tL ¢ 590 205,320 348
42418600 | Tihnd hnfuwlinhstinh (Yntijlglanbiph) dwutin, | 5o | sy | 19400 | 194,000 10
unn wnid” thnhiwbinhdh dunpunlbt
Unwugpwluwiubn, wn pynd’ pwphwnwihtu
44440000 c< :
waritigputin 24 LI tgrfiot By hwn 160,000 1,280,000 8
Unwugpwluwiubp, wjn pyntd’ pwphwwjhu ‘
44440000 c< h 160,0
wnwugpwluw| 1600 Yyw k. owpdhsh, dbs o e 1,280,000 8
Unwugpwluwiubn, wn pynd’ pwphwnwiht
44440000 o< h 150
wnwugpwyw 1600 Yy ). pwndhsh, thnpn o g —— °
42131270 | Pwlinn thwluibiLbn nnnuihuywg ufuiduinwing, t< | hunm | 65106 | 2,548,600 90
nunwdbup,  wn pUnid
Pwljwu 1/2" c< huin 3,000 99,000 33
Puljwu 3/4" < hwiwn 3,600 54,000 15
Pwlwu D=50dd t< huwin 19,500 78,000 4
Pwlwu D=100dd c< huin 25,000 50,000 2
Puljwu D=125dd ¢c< hwwn 48,000 96,000 2
Pwlwu D=250dd t<l hwn 87,000 174,000 2
Pwlwu D=25dd (14 huitn 4,400 - 132,000 30
Pwlwl ynnuwnjw P=400 dd < hwuwn 890,000 890,000 1
Pwlwu pnigh $=500 dd (S huin 975,600 975,600 1
Uhwynndwuh gnpdnnniejut thwlwulbp,
42131200 t< h 980,000 | 2,940,000
wjn pYnud’ hwhuwnwnd thwlwu ®=600 du e :
Uwnwduwynp thnfuwughsubp b wnwduwynp
42141140 |thnfuwughsutiph twppbip, win pynd hwpe c< hwwn 160,000 320,000 2
thwlwuh nknniyunnp
<hnpuwyjhly thwlwuubph awpdwyubp, win pynud £
42131450 < h 300,000 300,000 1
. hunnpnwly D=1000dd thuwluwth hwdwn o
42131450 | SPnuinly hwlpublibnh guinduillbn, wiy pdnd - p oy 950000 | 750,000 3
£). hwnnpnwly D=400dd thwlwuh hwdwp
39292530 *Q“-‘“”]““'JYP Ununw, pwdstp, t< | hun | 3,500 70,000 20
N m\init
2nwswthwywu pwunu 0.5 d < hwn 2,300 23,000 10
2pwswthwywu pwunu 1.0 d c<k hwun 4,700 47,000 10
44537190 | OUuRt bt wnnuuint wwpnipwluinn o< huwn 1,800 | 1,800,000 1000
wwpwuptbn, wyn pynwd’ htinnu-dwutl
3161100 | HBUnnuwlwl uindpstibnh dutubn, wn i B pe | 800 72,000 40
owndhsh gpwdhwnwihu hnupwhw
42651200 | Atneh blblnpwdbluwbihlwlwt gnpdhpbp, win | e 1wy | 35000 | 210,000 6
matnnf'
Ywnpnn, hnynn uwpp (< hwuwn 40,000 120,000 3
El. swnuwth < | hww | 30,000 90,000 3
4oy | THBREREYEAY YrmYn ik, Fplen, t< | huwn | 37,500 | 900,000 24
unn mnnf
Uwpwlngubip 65 U (o] hwun 24,000 432,000 18
Uwpwnyngubip 200 U c< hwin 78,000 468,000 6
34350000 |OMunwRwng/twprunwn whnfuwnpuidhengUinh -y s1138 | 4,449,000 87
wuhyubip, punwdbup, wyn pYntd
Uujwnnn YpU2 c< hwwn 150,000 1,500,000 10
Uuwnnn 9wg-53 (S hwun 65,000 325,000 5
Uuwnnn hd-2171 < hwtn 30,000 240,000 8
Uujwnnn Lhuuwu (S hwun 100,000 400,000 4
(24 hwuwn 35,000 560,000 16

Uujwnnn Gwg-3110




Uujwnnn 4U2-21099 c< hwtn 30,000 240,000 8
Utjwnnn 4UR-21213 <l hwtn 32,000 1,024,000 32
Uuwnnn NhU2 < hwwn 40,000 160,000 4
Shunbuwlwl wwpwGphbbp 410,050
18141100 | UpfuwwnwUpwihu dbnungubip < qnLjq 140 42,000 300
18811130 | Ywnignihhg Gnpwynp Ynohlutip < qnLjq 2,900 116,000 40
44511130 | Uygbgnpdwlwu tnwuubp [ hwtn 1,550 31,000 20
44511110 | Pwhbp (< hwn - 1,180 35,400 30
44511120 | 9nquphwlubp (< hwwn 1,180 35,400 30
=y ;
44511390 nnrl;ffhpﬁbnh prbwlutin, wyn punul puhh, Bnwbh |- 500 40,000 80
wnstp
44521170 [Unnutip ) t<l hwn 2,220 44,400 20
42415220 | Uwjwly pnuwwwp, dbal wyny c< hwn 17,000 51,000 3
44511140 | Linwuqubip t< hwtn 2,700 8,100 3
44511200 | Qtinph unngubp c< hwtn 1;350 6,750 o
3hdGwywh shenglGhp 600,000
Gnwlgdwu fEhunpwlwt uwppbp, wn pynd’
42661400 ZLUrld'LUHLU‘U hnwug[jwh wwjwpwin phhqhhwjh'u G< hwn 600,000 600,000 1
owndhsny
QptiGwlywb whwnyplbip L qpuubbjwywihb Gynipbp 280,000
30197631 | Qpbynt pnuine A4 $npdwinh /21x29.7/ CL | nnuh/ 500 | 2,300 230,000 100
30197646 | Qpbiint enine A3 $npdwnh /29,7x42/ CL | wnuh/ 500 | 5,000 25,000 5
39263200 |Fpuwubtywlwihu ghpp, dwwnjwu c< hwwn 1,000 25,000 25
Il. SwnwynipyniGGEp, wyn pynLd’ 19,430,000
72411000 | <wdwgwugwiht Swnwjniejniuubp PCUR nnwa 180,000 1
50321400 | SMwdmghe uypwituuwhl) vwinplinh POUR | npwd 150,000 i
Ybpwunpngdwt dwnwjnipniubin
50311240 Muwnbbuwhwunn uwppbph ybpwunpngdwu AoU3 — 100,000 1
Swnuwijninitutbip
50531200 | UMW usnptinh, uwnpwnpnudutph t< | npwo 19,000,000 i
Ybpwunpngdwu b ywhwywudwu dwnwjniejntubn
CGnhwGnipp Vi 125,239,590

SlGopkGh wwpwnnlwlwwnwp

U. IndhwbGbhujwb




